

## UNDERGRADUATE PROGRAM 2019-20 Academic Year Winter 2020 Effective January 27, 2020

	Head Count	FULL-TIME S No. of Units	TUDENTS Ave. No. of Units	FTE	P Head Count	ART-TIME S No. of Units	TUDENTS Ave. No. of Units	FTE	TO <sup>-</sup> Head Count	TAL STUDEN No. of Units	TS FTE
SCU Undergraduate Degree Students - Quarter											
First-year Students											
Arts & Sciences	746	12,433.25	16.67	746	1	8.00	8.00	0.67	747	12,441.25	746.67
Business	407	6,691.50	16.44	407					407	6,691.50	407.00
Engineering	224	4,083.50	18.23	224	1	9.00	9.00	0.75	225	4,092.50	224.75
Total - First-year Students	1,377	23,208.25	16.85	1,377	2	17.00	8.50	1.42	1,379	23,225.25	1,378.42
Transfer Students											
Arts & Sciences	136	2,263.00	16.64	136	2	18.00	9.00	1.50	138	2,281.00	137.50
Business	42	732.00	17.43	42	1	9.00	9.00	0.75	43	741.00	42.75
Engineering	24	412.00	17.17	24					24	412.00	24.00
Total - Transfer Students	202	3,407.00	16.87	202	3	27.00	9.00	2.25	205	3,434.00	204.25
Continuing Students - Main Campus											
Arts & Sciences	2,075	36,011.25	17.35	2,075	69	570.00	8.26	47.50	2,144	36,581.25	2,122.50
Business	1,159	20,702.50	17.86	1,159	29	248.00	8.55	20.67	1,188	20,950.50	1,179.67
Engineering	645	11,321.00	17.55	645	27	212.00	7.85	17.67	672	11,533.00	662.67
Total - Continuing Students - Main Campus	3,879	68,034.75	17.54	3,879	125	1,030.00	8.24	85.83	4,004	69,064.75	3,964.83
Continuing Students - External Study											
Arts & Sciences	3	57.00	19.00	3					3	57.00	3.00
Business											
Engineering			40.00						_		
Total - Continuing Students - External	3	57.00	19.00	3	0				3	57.00	3.00
Total SCU Degree Students											
Arts & Sciences	2,960	50,764.50	17.15	2,960	72	596.00	8.28	49.67	3,032	51,360.50	3,009.67
Business	1,608	28,126.00	17.49	1,608	30	257.00	8.57	21.42	1,638	28,383.00	1,629.42
Engineering	893	15,816.50	17.71	893	28	221.00	7.89	18.42	921	16,037.50	911.42
Total - SCU Degree Students	5,461	94,707.00	17.34	5,461	130	1,074.00	8.26	89.50	5,591	95,781.00	5,550.50
SCU Undergraduate Non Degree Students											
Main Campus					1	10.00	10.00	0.83	1	10.00	0.83
External Study											
Exchange Programs	10	140.00	14.00	10					10	140.00	10.00
Total - Non Degree Students	10	140.00	14.00	10	1	10.00	10.00	0.83	11	150.00	10.83
Total Undergraduate Students	5,471	94,847.00	17.34	5,471	131	1,084.00	8.27	90.33	5,602	95,931.00	5,561.33

- 1. SCU degree students include students admitted to the undergraduate degree program.
- 2. First-year includes first time degree-seeking students initially enrolling at SCU in fall, winter, or spring term.
- 3. Transfers include students with academic credit from another college, initially enrolling at SCU in fall, winter, or spring term.
- 4. Number of units does not include units from audited classes.
- 5. Student full-time equivalency (FTE) is based on 12 units in the undergraduate program. For students enrolled in 12 units or more, FTE = 1.0. Otherwise, FTE = number of units / 12.



### UNDERGRADUATE PROGRAM - EXTERNAL STUDY

2019-20 Academic Year Winter 2020 Effective January 27, 2020

	F Head Count	FULL-TIME S <sup>-</sup> No. of Units	TUDENTS Ave. No. of Units	FTE	P/ Head Count	ART-TIME STUDENTS  No. of Ave. No.  Units of Units	FTE	TOTA Head Count	AL STUDENTS No. of Units	FTE
SCU Undergraduate Degree Students - External Study	Journe	Office	or Office		Count	Grinis Gridinis		Count	OTILO	
College of Arts & Sciences										
Affiliated Programs - Tier 1	2	38.00	19.00	2				2	38.00	2.00
Affiliated Programs - Tier 2										
Affiliated Programs - Tier 3										
Affiliated Programs - Tier 4										
Affiliated Programs - Tier 5										
Exchange Programs										
Washington Semester - American University	1	19.00	19.00	1				1	19.00	1.00
Panetta Institute										
Total - Arts & Sciences	3	57.00	19.00	3	0			3	57.00	3.00
Leavey School of Business										
Affiliated Programs - Tier 1										
Affiliated Programs - Tier 2										
Affiliated Programs - Tier 3										
Affiliated Programs - Tier 4										
Affiliated Programs - Tier 5										
Exchange Programs										
Washington Semester - American University										
Panetta Institute	_				_			_		
Total - Leavey School of Business	0	0.00			0			0	0.00	0.00
School of Engineering										
Affiliated Programs - Tier 1										
Affiliated Programs - Tier 2										
Affiliated Programs - Tier 3 Affiliated Programs - Tier 4										
Affiliated Programs - Tier 5										
Exchange Programs										
Washington Semester - American University										
Panetta Institute										
Total - School of Engineering	0	0.00		0	0			0	0.00	0.00
Total SCU Undergraduate Degree Students - External Study by Program										
Affiliated Programs - Tier 1	2	38.00	19.00	2				2	38.00	2.00
Affiliated Programs - Tier 2										
Affiliated Programs - Tier 3										
Affiliated Programs - Tier 4										
Affiliated Programs - Tier 5										
Exchange Programs										
Washington Semester - American University	1	19.00	19.00	1				1	19.00	1.00
Panetta Institute	_	/						_		
Total SCU Undergraduate Degree Students - External Study	3	57.00	19.00	3	0			3	57.00	3.00

- 1. For undergraduates enrolled in external study programs, registration is set initially at 19 units and adjusted to actual units earned upon completion of the program.
- 2. For undergraduates enrolled in an external study program and an ROTC course, the initial number of units will be greater than 19.
- 3. Number of units does not include units from audited classes.



## GRADUATE PROGRAMS - QUARTER 2019-20 Academic Year Winter 2020 Effective January 27, 2020

	F	ULL-TIME S	PART-TIME STUDENTS				TOTAL STUDENTS				
	Head	No. of	Ave. No.		Head	No. of	Ave. No.		Head	No. of	
	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE
SCU Graduate Students - Quarter											
College of Arts & Sciences											
Pastoral Ministries (M.A.)	1	8.00	8.00	1.00	20	80.00	4.00	10.00	21	88.00	11.00
Pastoral Ministries Distance Learning (M.A.)	6	52.00	8.67	6.50	36	144.00	4.00	18.00	42	196.00	24.50
Non Degree - Pastoral Ministries					11	44.00	4.00	5.50	11	44.00	5.50
Total - College of Arts & Sciences	7	60.00	8.57	7.50	67	268.00	4.00	33.50	74	328.00	41.00
Leavey School of Business											
J.D./MBA Combined Degree	1	14.00		1.56	9	56.00	5.14	6.22	10	70.00	7.78
J.D./MSIS Combined Degree											
Executive MBA (EMBA)	20	240.00	12.00	20.00					20	240.00	20.00
Master of Business Administration (M.B.A.)	70	751.00	10.73	83.44	205	1,429.00	6.97	158.78	275	2,180.00	242.22
Master of Business Administration (M.B.A.) (on-line)	40	450.00	11.25	50.00	97	710.00	7.32	78.89	137	1,160.00	128.89
Master of Science - Business Analytics (M.S.)	40	435.00	10.88	48.33	13	48.00	3.69	5.33	53	483.00	53.67
Master of Science - Finance & Analytics (M.S.)	15	215.00	14.33	23.89					15	215.00	23.89
Master of Science - Finance (M.S.)	1	10.00	10.00	1.11	1	6.00	6.00	0.67	2	16.00	1.78
Master of Science - Marketing (M.S.) (on-line)	1	10.00	10.00	1.11	18	128.00	7.11	14.22	19	138.00	15.33
Master of Science - Management Information Systems (M.S.I.S.)	60	584.00	9.73	64.89	46	296.00	6.43	32.89	106	880.00	97.78
Non Degree - Business											
Post Baccalaureate CAAP	34	420.00	12.35	35.00	4	24.00	6.00	2.00	38	444.00	37.00
Total - Leavey School of Business	282	3,129.00	11.10	329.33	393	2,697.00	6.86	299.00	675	5,826.00	628.33
School of Engineering											
Doctor of Philosophy (Ph.D.)	16	132.00	8.25	16.50	34	76.00	2.24	9.50	50	208.00	26.00
Engineer's Degree											
Master of Science (M.S.)	374	3,290.00	8.80	411.25	187	735.00	3.93	91.88	561	4,025.00	503.13
Engineering Certificate	1	9.00	9.00	1.13	10	30.00	3.00	3.75	11	39.00	4.88
Non Degree - Engineering					7	21.00	3.00	2.63	7	21.00	2.63
Total - School of Engineering	391	3,431.00	8.77	428.88	238	862.00	3.62	107.75	629	4,293.00	536.63



### GRADUATE PROGRAMS - QUARTER 2019-20 Academic Year Winter 2020 Effective January 27, 2020

	FULL-TIME STUDENTS				PART-TIME STUDENTS				TOTAL STUDENTS			
	Head	No. of	Ave. No.		Head	No. of	Ave. No.		Head	No. of		
	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE	
SCU Graduate Students - Quarter												
School of Education & Counseling Psychology												
Master of Arts (M.A.) - Counseling	19	178.00	9.37	19.78	11	55.50	5.05	6.17	30	233.50	25.94	
Master of Arts (M.A.) - Counseling Psychology	172	1,637.50	9.52	181.94	155	806.00	5.20	89.56	327	2,443.50	271.50	
Master of Arts (M.A.) - Educational Administration	28	264.00	9.43	29.33	41	213.00	5.20	23.67	69	477.00	53.00	
Master of Arts Teaching (M.A.T.) Multiple Subject	52	589.00	11.33	65.44	48	287.00	5.98	31.89	100	876.00	97.33	
Master of Arts Teaching (M.A.T.) Single Subject	32	308.00	9.63	34.22	34	227.00	6.68	25.22	66	535.00	59.44	
MAT Clear Teach Catholic School Teach												
Abb Pre Tch Prg Catholic School Multi												
Bilingual Cross-Cult Language Certificate					4	4.00	1.00	0.44	4	4.00	0.44	
Catholic School Leadership Certificate												
Alternative and Correctional Certificate					1	3.00	3.00	0.33	1	3.00	0.33	
Clear Teaching Certificate												
Credential for 6+ yrs Catholic School Teachers Certificate												
Preliminary Admin Service Certificate					1	3.00	3.00	0.33	1	3.00	0.33	
Preliminary Multiple Subj Teach Pro Catholic School Teach Certificate					5	25.00	5.00	2.78	5	25.00	2.78	
Preliminary Single Subj Teach Pro Catholic School Teach Certificate					8	40.00	5.00	4.44	8	40.00	4.44	
Non Degree - Counseling Psychology												
Non Degree - Education					1	1.00	1.00	0.11	1	1.00	0.11	
Total - School of Education & Counseling Psychology	303	2,976.50	9.82	330.72	309	1,664.50	5.39	184.94	612	4,641.00	515.67	
Total SCU Graduate Students - Quarter	983	9,596.50	9.76	1,096.43	1,007	5,491.50	5.45	625.19	1,990	15,088.00	1,721.63	

- 1. In Pastoral Ministries, student full-time equivalency (FTE) is based on 8 units.
- 2. In the Business post baccalaureate CAAP prigram, student FTE is based on 12 units.
- 3. In Business graduate programs, student FTE is based on 9 units.
- 4. In Engineering graduate programs, student FTE is based on 8 units.
- 5. In Education and Counseling Psychology programs, student FTE is based on 9 units.
- 6. In post baccalaureate and graduate programs, FTE equals the number of units a student is enrolled in / number of units program is based on. Thus, FTE exceeds 1.0 for students enrolled in more than the base number of units for their program. EMBA students are an exception. This is a full-time cohort program in which FTE equals number of students.



### GRADUATE PROGRAMS - SEMESTER

2019-20 Academic Year Winter 2020 Effective January 27, 2020

	FU	LL-TIME S	TUDENTS		PA	RT-TIME ST	UDENTS	1	TOTAL STUDENTS			
	Head		Ave. No.		Head		Ave. No.		Head	No. of		
	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE	
SCU Graduate Students - Semester and Special Programs												
School of Law												
Juris Doctor (J.D.) - Day												
Juris Doctor (J.D.) - Evening Juris Doctor (J.D.) - Day Study Abroad												
Juris Doctor (J.D.) - Day Study Abroad  Juris Doctor (J.D.) - Evening Study Abroad												
JD/MBA Combined Degree												
JD/MSIS Combined Degree												
Master of Laws (L.L.M.)												
Master of Laws (L.L.M.) Abroad												
Master of Legal Studies (MLS) - Corporate Compliance (on-line) 2	9	81.00	9.00	9.00					9	81.00	9.00	
Non Degree Exchange												
Non Degree												
Total - School of Law	9	81.00	9.00	9.00	0	0.00		0.00	9	81.00	9.00	
1 101 177												
Jesuit School of Theology					4.4	00.00	0.00	0.07	4.4	22.22	2.27	
Master of Divinity (M.Div.)					11	33.00	3.00	3.67	11	33.00	3.67 0.56	
Master of Theological Studies (M.T.S.) Master of Theological Studies (M.T.S.) (on-line)					2 1	5.00 3.00	2.50 3.00	0.56 0.33	2 1	5.00 3.00	0.56	
Master of Theological Studies (M. 1.3.) (off-life)					'	3.00	3.00	0.33	'	3.00	0.55	
Master of Theology (Th.M.) - Candidates												
Bachelor of Sacred Theology (S.T.B.)												
Licentiate of Sacred Theology (S.T.L.)												
Licentiate of Sacred Theology (S.T.L.) - Candidates												
Licentiate of Sacred Theology/Master of Theology (S.T.L./Th.M.)												
Doctor of Sacred Theology (S.T.D.)												
Doctor of Sacred Theology (S.T.D.) - Candidates												
Master of Arts/Master of Divinity (M.A./M.Div.)												
New Directions									_			
Non Degree	•	0.00		0.00	2	3.00	1.50	0.33	2	3.00	0.33	
Total - Jesuit School of Theology	0	0.00		0.00	16	44.00	2.75	4.89	16	44.00	4.89	
Total SCU Graduate Students - Semester and Special Programs	9	81.00	9.00	9.00	16	44.00	2.75	4.89	25	125.00	13.89	
Total 300 Graduate Students - Semester and Special Programs	3	01.00	3.00	9.00	10	44.00	2.13	4.03	25	123.00	13	

- 1. In the School of Law, student full-time equivalency (FTE) is based on 12 units, except for the Evening J.D. program which is based on 8 units, and the JD/MBA and JD/MSIS programs which are based on 9 units.
- 2. In the Jesuit School of Theology, student FTE is based on 9 units.
- 3. In Law and JST, FTE equals the number of units a student is enrolled in / number of units for their program.
- 4. Number of units enrolled in does not include units from audited classes.
- 5. Students in non-degree programs or in JST's New Directions program are always considered part-time.
- 6. In the School of Law, the on-line Master of Legal Studies program operates on a quarter calendar. JST offers a January Intersession which operates on a quarter schedule Winter term.



OVERALL ENROLLMENT 2019-20 Academic Year Winter 2020 Effective January 27, 2020

	FULL-TIME STUDENTS				PA	RT-TIME S	TUDENTS		TOTAL STUDENTS			
	Head	No. of	Ave. No.		Head	No. of	Ave. No.		Head	No. of		
	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE	
SCU Enrollment by Program												
Undergraduate Programs												
College of Arts & Sciences	2,960	50,765	17.15	2,960	72	596	8.28	50	3,032	51,361	3,010	
Leavey School of Business	1,608	28,126	17.49	1,608	30	257	8.57	21	1,638	28,383	1,629	
School of Engineering	893	15,817	17.71	893	28	221	7.89	18	921	16,038	911	
Non Degree Students	10	140	14.00	10	1	10	10.00	1	11	150	11	
Total Undergraduate	5,471	94,847	17.34	5,471	131	1,084	8.27	90	5,602	95,931	5,561	
Graduate Programs - Quarter												
College of Arts & Sciences	7	60	8.57	8	67	268	4.00	34	74	328	41	
Leavey School of Business	282	3,129	11.10	329	393	2,697	6.86	299	675	5,826	628	
School of Engineering	391	3,431	8.77	429	238	862	3.62	108	629	4,293	537	
School of Education & Counseling Psychology	303	2,977	9.82	331	309	1,665	5.39	185	612	4,641	516	
Total Graduate Programs - Quarter	983	9,597	9.76	1,096	1,007	5,492	5.45	625	1,990	15,088	1,722	
Graduate Programs - Semester and Special Programs												
School of Law	9	81	9.00	9					9	81	9	
Jesuit School of Theology					16	44	2.75	5	16	44	5	
Total Graduate Programs - Semester	9	81	9.00	9	16	44	2.75	5	25	125	14	
Total Enrollment	6,463	104,525	16.17	6,576	1,154	6,620	5.74	720	7,617	111,144	7,297	

<sup>1.</sup> Throughout this report, head count represents the number of unique (unduplicated) students enrolled at census. Occasionally, students enroll in two programs simultaneously (e.g., a graduate student enrolled as degree-seeking in one program and non degree-seeking in another program). The student would then be counted in the degree program only; units would be counted in the program where they were taken.

<sup>2.</sup> Units shown in Total Enrollment are a sum of semester and quarter units from programs on semeter and quarter calendars, respectively.



OVERALL ENROLLMENT 2019-20 Academic Year Winter 2020 Effective January 27, 2020

	FULL-TIME STUDENTS				P.A	ART-TIME S	TUDENTS		TOTAL STUDENTS			
	Head	No. of	Ave. No.		Head	No. of	Ave. No.		Head	No. of		
CCII Farrellmont by College/Cobool	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE	
SCU Enrollment by College/School												
College of Arts & Sciences												
Undergraduate - Degree Seeking	2,960	50,765	17.15	2,960	72	596	8.28	50	3,032	51,361	3,010	
Graduate	7	60	8.57	8	67	268	4.00	34	74	328	41	
Total College of Arts & Sciences	2,967	50,825	17.13	2,968	139	864	6.22	83	3,106	51,689	3,051	
Leavey School of Business												
Undergraduate - Degree Seeking	1,608	28,126	17.49	1,608	30	257	8.57	21	1,638	28,383	1,629	
Graduate	282	3,129	11.10	329	393	2,697	6.86	299	675	5,826	628	
Total Leavey School of Business	1,890	31,255	16.54	1,937	423	2,954	6.98	320	2,313	34,209	2,258	
School of Engineering												
Undergraduate - Degree Seeking	893	15,817	17.71	893	28	221	7.89	18	921	16,038	911	
Graduate	391	3,431	8.77	429	238	862	3.62	108	629	4,293	537	
Total School of Engineering	1,284	19,248	14.99	1,322	266	1,083	4.07	126	1,550	20,331	1,448	
Non Degree Students - Undergraduate												
Total Undergraduate - Non-degree Seeking	10	140	14.00	10	1	10.00	10.00	1	11	150	11	
School of Education & Counseling Psychology												
Undergraduate - Degree Seeking												
Graduate	303	2,977	9.82	331	309	1,665	5.39	185	612	4,641	516	
Total School of Education & Counseling Psychology	303	2,977	9.82	331	309	1,665	5.39	185	612	4,641	516	
School of Law												
Undergraduate - Degree Seeking												
Graduate	9	81	9.00	9					9	81	9	
Total School of Law	9	81	9.00	9	0	0		0	9	81	9	
Jesuit School of Theology												
Undergraduate - Degree Seeking												
Graduate					16	44	2.75	5	16	44	5	
Total Jesuit School of Theology	0	0		0	16	44	2.75	5	16	44	5	
Total Enrollment	6,463	104,525	16.17	6,576	1,154	6,620	5.74	720	7,617	111,144	7,297	

<sup>1.</sup> Throughout this report, head count represents the number of unique (unduplicated) students enrolled at census. Occasionally, students enroll in two programs simultaneously (e.g., a graduate student enrolled as degree-seeking in one program and non degree-seeking in another program). The student would then be counted in the degree program only; units would be counted in the program where they were taken.

<sup>2.</sup> Units shown in Total Enrollment are a sum of semester and quarter units from programs on semeter and quarter calendars, respectively.